& A (&4 - FF)

. T ® 2% & TR 5 FE R L

" % Cl C R L @)

1 H B 275, 520 7.1 282, 220 7.2 A 2.4
2 K B 5 72, 000 1.8 76, 000 2.0 A 5.3
3 KM F OE % ff 2 1,000 0.0 1,000 0.0 0.0
4 BO%L #H % ff 2 200 0.0 200 0.0 0.0
5 BHALXFEFR/ARMGS 200 0.0 200 0.0 0.0
6 H H BB X M2 35, 000 0.9 32, 000 0.8 9.4
] BB ERSBX S 7, 800 0.2 13, 400 0.3 A 4.8
8 b K B OB X 2 370 0.0 400 0.0 A 1.5
9 K T ft B 2, 400, 000 61.6 2,270, 000 58. 2 5.7
10 XERE2AEHAXAS 900 0.0 900 0.0 0.0
N 9 #E 2k VA8 S 30, 672 0.8 29, 472 0.8 4.1
12 f# A8 R U F &N 80, 200 2.1 81,223 2.1 A 1.3
3 E B %X H £ 191, 937 4.9 326, 737 8.4 A 4.3
14 & 3 H & 147,917 3.8 129, 700 3.3 14.0
15 & RE Iz A 58, 651 1.5 43, 376 1.1 35. 2
16 % Bt & 360 0.0 360 0.0 0.0
17 A & 107, 802 2.8 118, 674 3.0 A 9.2
18 oA & 10, 000 0.3 10, 000 0.3 0.0
19 & i A 147, 871 3.8 150, 938 3.9 A 2.0
20 HT & 328, 600 8.4 315, 200 8.1 4.3
& A & Gt 3,897, 000 100.0 3, 882, 000 99. 6 0.4




= o] [Ef . FH]

B T Rk 26 fF B TR %5 F B I
i 5l Ll B AL 5l Cl B AL ®)
[ = =1 47,5117 1.2 47,673 1.2 A 0.3
2 o2 = 243, 483 6.2 272, 805 7.0 A 107
3 K & = 826, 913 21.2 134, 395 18.8 12.6
4 1 & = 209, 382 0.4 152,910 3.9 36.9
5 F @ =1 098 0.0 604 0.0 A 1.0
6 B ® XKk E E & 239, 038 6.2 164, 707 4.3 45.1
= x = 107, 695 2.8 92,034 2.4 17.0
L2 x = 131, 343 3.4 12,673 1.9 80.7
1T @ T = 713,032 1.9 09, 494 1.4 31.6
8§ =L x = 442, 055 11.3 429, 343 11.0 3.0
9 H i} = 219, 878 9.6 180, 105 4.7 22.1
10 # G =1 437, 863 11.3 624, 621 16.0 A 299
1 % &5 & 12 =1 8 0.0 8 0.0 0.0
12 % = =1 034, 181 13.7 936,518 13.8 A 0.3
13 ¥ 5 =1 618, 450 15.9 678, 899 17.4 A 8.9
14 &8 b3 t i 2 0.0 2 0.0 0.0
1 ¥ {4 = 4,000 0.1 4,000 0.1 0.0
m & & 3,897,000 100.0 3. 882, 000 99.6 0.4




